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1. Match each inequality with its graph. Explain your reasoning: 7 shaded below
A 2Xx—y>6 vy
GRAPH U
B. y=2x—6 %
GRAPH H
C. 2x<y+6
GRAPH 3 ‘
D. x— 6=y x
GRAPH 1
2. Ulli correctly graphed the line of the inequality 4

y = 3x — 1, but she did not shade any region.

A. Circle the coordinates below that are in the solution

of this inequality /
(-15 ) Q-7 {/

B. Shade the correct region for Ulli.
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Graph the solution set in the coordinate plane. Support your answer by selecting two ordered
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pairs in the solution set and verifying that they make the inequality true.

3. —x+y>5 (_j>x.|.5

4, —6=y lj_>. -(p

5, y=-3x+1
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9. 3x=6 N<L7 10. 3<y+4 -L:;g' 1. x+3>0 X >-3

J A

12. Open Ended Create 5 ordered pairs using the whole digits 0—9 exactly one time each. Then
create a linear inequality such that:

e Two of the ordered pairs are solutions to the linear inequality.
e Two of the ordered pairs are NOT solutions to the linear inequality.

* One of the ordered pairs is on the boundary line but NOT a solution to the linear inequality.

. . . -X+9
12. Answers will vary. Sample solution given at the vz
right. y>Y%x+4
Hints: (0,1)
e How can you tell if an ordered pair is a (2,3)
solution (or not a solution) for the linear 4, 5)
inequality?
¢ When can an ordered pair be on the (6,7) | A
boundary line but not a solution? (8,9) ’ T -

There are many answers that could work as long as:

(1.) Two of the ordered pairs are in the boundary region or solutions to the linear inequality.

(2.) Two of the ordered pairs are not in the boundary region or not solutions to the linear
inequality.

(3.) The inequality is either less than or greater than but not or equal to.



farmers market. She sells burritos for $3.50 each and
tacos for $2.00 each. She hopes to earn at least $120 at
the farmers market this Saturday.
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Marti sells tacos and burritos from a food truck at the

13.
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Identify three combinations of tacos and burritos
that will earn Marti more than $120.

oss . l . © Paolo Paradiso/Shutterstock.com
possible solutions o neq_va\rl\/. * 4o burritos, (tacas
33b+at > 1RO *10 burrites, Sotacas

e 25 burrites, 30 tacos

14. ldentify three combinations of tacos and burritos that will earn Marti exactly $120.
possible solutions foequation: * O b&""‘*"% @0 taces
* 32 burritos o
3.5b+at =120 o o rocas
» 20 barrites, 8tacas
15. ldentify three combinations of tacos
and burritos that will not earn Marti Marti's Food Truck
at least $120. s |
P038| ble answers 2i
* Qourritos Staces ~ _
.19 kt:)amwfros Io tacoS - Marty willeam
+20 burritos, § tacoeS - &
16. Graph your answers to Problems § P nove Ehan, = 120
18
13 and 14 in the coordinate plane, %
and then shade a half-plane that é =
contains all possible solutions to E =
this problem. B
Z|%
17. Create a linear inequality that i
represents the SOIUtion to this s 0246810121416 18.’01224262330321‘36!!40‘2“46‘850525&565!60 mr1- \Dll)
problem. Let x equal the number of Mumber of Burritos Sold €orn eXQd')j
burritos that Marti sells, and let y | 20
equal the number of tacos that Marti sells.
3.5br at > 130
18. Is the point (10, 49. 5) a solution to the inequality you created in Problem 17? Explain your

reasoning.

Thott point Loould ot make Sense
Context of situation. \Ljou connot sell a
traction ofa taco



